
Math 3283W Fall 2016 - Writing Quiz #6

Thursday 10/27/16 - 20 minutes Name:

Remember: your work on in the “writing” portion of this quiz will be graded on the quality of your writing and

explanation as well as the validity of the mathematics. (5 Points)

Writing. Recall that a function is a bijection if it is both injective and surjective. If you define a function which

you claim is injective, surjective, or bijective, you must prove that assertion.

(1) (6 Points) Prove that N is equinumerous with a proper subset of itself.

(2) (9 Points) Prove that N⇥ N is denumerable.
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